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NOTE: - Write same question number -4.@/:¢;.,4.41r.62g5 Zw)/'.}’ZA'/.UMﬁ:{Qb’QL?.

and its part number on answer book, as given in the question paper.

2. Attempt any eight parts.

(i)

(i)
(iii)
(iv)
(v)

(vi)
(vii)

(vii)
(ix)
(x)
(xi)
(xii)

3. Attempt any eight parts.

(i)
(i)
(i)
(iv)
(v)
(vi)
(vii)
(i)
(ix)
(x)
(xi)
(i)

SECTION-l slo

16=2x8
Write the definition of Economics propounded by

Prof. Robbins.

What is meant by Micro Economics?

What is the difference between Knowledge and Art?
What is meant by Positive Economics?

What is the difference between Economic and
Non-Economic Goods?

What is meant by Necessities and Comforts?

What is the relationship between Total Utility and
Marginal Utility?

What is meant by Tabulation?

What is the difference between Point and Arc Elasticity?
Differentiate between Demand and Desire.

What is meant by Extension and Contraction in Demand?

What is meant by Elasticity of Demand?

16=2x8

Write the formula of the measurement of Elasticity of Supply.

What is meant by Contraction of Supply?
What is meant by Fall of Supply?

What is meant by More Elastic Supply?

What is meant by Equilibrium Point?

State that, Land is a Non-active Factor.

State the concept of Land.

What is meant by Foreign Capital?

What is meant by Capital Formation?

What is meant by External Economies?

Write the definition of Law of Constant Returns.

What is meant by Over Production?
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(i)

(i)
(iii)
(iv)
(v)

(vi)
(vii)

(viii)
(ix)
x)
(xi)

(xii)

(i)
(ii)
(iii)
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v)
(vi)
(Vi)
(vii)
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(i
(ii)

(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)
(xii)

(2)

(i)
(ii)
(i)
(iv)
(v)
(vi)

(vii)
(viii)
(ix)
(x)
(xi)
(xii)

4. Attempt any nine parts. 18=2x9 -54/’:4&&!2!}‘-..6;’ -4/.‘Uir‘
What is meant by Short Run? ?‘L)'/l{c.gﬁia/
What is meant by Average Fixed Cost? S st P Sl sl
What is meant by Revenues of Firm? ?g.:ygfc_u:ér’;d/r/'
Define Monopoly. -q/_y /"'J Sl
Define Normal Profit. ST AL
Write two conditions for the equilibrium of a firm, -4%/5:{0)0&(}
Define Market. -y Sk
Wirite any four determinants of the extension of a Market. ,4@%;{3;@&#)&)’%
Define Rent. ATy
Wirite any four assumptions of Ricardo's Theory of Rent. ,46.»&;/0 g@f&u@g /’Zﬁ/@/
What is meant by Money Wage? Sl ple e 2i8s
What is meant by Labour Union? ?c‘_;!/gfc_u"fbu/
Define Gross Interest. -qub.g‘g fuCr..f(/

(xiii)

NOTE: - Attempt any three questions.

5.

SECTION-II pss.0

Describe the merits and demerits of

the definition of Economics stated by Robbins.

Explain the Law of Demand with the help of

schedule and diagram.
Explain the characteristics of Labour.

What is meant by Capital Formation?

Explain its sources.

According to "Keynes" how the rate of interest

is determined?

30=10x3
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Note: You have four choices for each objective type question as A, B, C and D. -..{/C;J'}C;.-.mr{.“.g'r
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Founder of classical school of thought was:- -é:&gﬁ)’;—‘f‘ﬁ’ 14 1)
(A) Adam Smith é”pf (B) Marshall J";L (C) Robbins s (D) Keynes /

(2) Book "Principles of Economics” was written by:- U e (2)
(A) Marshall J..J%L (B) Robbins & 7. (C) Adam Smith 2T (D) Keynes L /c'/

(3) Marginal Utility at Saturation Point is:- -c‘-..rm)tsv?""’{d/ﬁ (3)
(A) Positive % (B) Negative d’ (C) Maximum oslje_ssli (D) Zero 3#

(4) One of the characteristics of Indifference Curves is:- e i é}rﬁb&} (4)
(A) Not to intersect each other t/.:tf’)i. /»uﬁ (B) Positive slope § 6’“:,»‘3
(C) Zero slope 3€7 3 (D) Linear shape J’pfr/

(5) _____ is adiscontinuous variable. -;.;?’UJ? a (5)
(A) Speed of car LG,($:¢ (B) Temperature =755 (C) Time <3 (D) Price =

(6) If demand increases as a result of fall in price, it is called:~ -g;.,ia.igm:yvbc.d/utgfﬁ (6)
(A) Extension in demand bz 6_¥ (B) Contraction in demand b/‘(‘KJ
(C) Fall in demand t./} [ (D) Rise in demand t=Z§__%

(7) If total expenditure increases as a result of decrease in Price, -9&%.@ JJ?&.@;«»&)@/’J:;L;«(::‘E;I )

then elasticity of demand is:- (A) Less than unity (c..é( !

(B) More than unity n;&)cé(’ (C) Equal to unity 1.Z ¢ (D) Zero elastic J’Ag ¥l

(8) Kinds of supply with respect to time period are:- _q;rlﬁlJr/c.NL.::’uf (8)
(A) One (B) Two » (C) Three o (D) Four g

(9) If supply decreases due to other factors is called:- -g_,iz_tgnf;za,gxfwf/f:ﬁ 9)

(A) Extension in supply tkZ¥.~ (B) Constraction in supply 327D (C) Rise in supply t»Z64~ (D) Fall in supply S
(10) If demand and supply both increase equally then AN T ot S s AU Ia N (1 0)
equilibrium quantity is:-  (A) Slightly decreases ‘a&nﬂr‘” (B) Remains the same ‘cd’bw,

(C) Increases & ("% (D) Decreases g.&n

(11) __is a basic factor of Production. -c‘_Jng;de:_lg (11)
(A) Organization (f’ (B) Capital i, (C) Labour «os (D).gand e

(12) If a labourer becomes a Foreman, this mobility is:- -‘é.d_/%();?/&(gcﬂd:h;’/’”fug/ﬂ (12)
(A) Social G;lv (B) Geographical Jgif? (C) Vertical Usst (D) Horizontal G"

(13) is an external economy. (A) Technical Economy =W -;..qlif bz (13
(B) Administrative Economy .:f.lafd &  (C) Financial Economy <l (D) Bank ..Q .

(14) Disadvantage of large scale production includes:- R - utacuﬁéﬂﬁ;g,gg (14)
(A) Over production (bl 41;  (B) Division of labour /Krtw (C) Research &5’."’ (D) Advertisement ﬂp

(15) Variable cost includes:- (A) Wages of watchman o #(/4% e JeUL  (15)
(B) Interest of capital »¥et (C) Wages of Iabourerscazufuu»f (D) Rent of building gff (1O

(16) Firms marginal revenue curve under petfect competition is:- -‘ctwb(dr‘;f‘?&(/lﬂéw&; (16)
(A) Vertical $»*  (B) Horizontal &I  (C) Negative sloped 115678 (D) Positive sloped 367 =

(17) Necessary condition of firms equilibrium is:- -‘aL/‘d/;/JUJGL() (17)
(A) MC = MR (B) MC > MR {(CYMC <MR (D) MC = AR

(18) A group of firms which produces specific good is called:- -‘at'llzf :+tﬁ4iJﬁiZ7:fugKur) (18)
(A) Entrepreneur 27 (B) Consumer Jilo (C) Industry w»=~ (D) Firm r)

{19) Wage is the reward of:- it ) (19)
(A) Land 6% (B) Labour K& (C) Capital €L, (D) Organization b’ﬂb '

(20) The concept of Marginal Land was presented by:- . -Lur‘f"(di'/’?:‘; (20)
(A) Adam Smith & 5“p7 (B) Marshall &7t (C) Robbins & (D) Ricardo s34,

35(Obj)(*)-201 6(S)-1000 (MULTAN)
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ECONOMICS PAPER-| b g4 =l
TIME ALLOWED: 30 Minutes OBJECTIVE (§%*.e i 30 = =
MAXIMUM MARKS: 20 20= A

S B\ ﬁtﬂx’b}k"&Uvﬁ..,«b?.:«wa;ﬂu:ibé{.:&.l«édlrﬁ{qVQU; ~HLLsD 4 CB ANy o)
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Note: You have four choices for each objective type question as A, B, C and D. -¢I:J’ﬂ,';:.uw«;4v
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 A

(1) ____is a basic factor of Production. -‘LJJ";’%JVU}? 1)
(A) Organization (‘f’ (B) Capital .l (C) Labour & (D)nLand 09

(2) If a labourer becomes a Foreman, this mobility is:- _c‘-_d{,'gg)‘é?a.tgu:uﬁ/;’/‘;y,ﬁﬁ (3]
(A) Social J/‘b» (B) Geographical éyl/? (C) Vertical Unf (D) Horizontal 5}’!

(3) is an external economy. (A) Technical Economy s -c‘_.-dzf Qe (3)
(B) Administrative Economy e WU (C) Financial Economy <&/l (D) Bank .,Q )

(4) Disadvantage of large scale production includes:- R ”_é‘L.uf:aCLﬁ]LJJLSJgA-‘{: 4)
(A) Over production (six 415 (B) Division of labour /K,‘.T“” (C) Research (}5” (D) Advertisement /z'i'

(5) Variable cost includes:- (A) Wages of watchman o/# 014/ e JBSSe  (5)
(B) Interest of capital »»§2_{ (C) Wages of labourers .:.«Z'Juu»/" (D) Rent of building ,l/ 11 4

(6) Firms marginal revenue curve under perfgct competition is:- -q.tnhifdr‘:f*u((/'u:—wﬂd"( 6)
(A) Vertical $»f  (B) Horizontal ¢  (C) Negative sloped gz (D) Positive sloped V5347 =%

(7) Necessary condition of firms equilibrium is:- -‘cb/‘du/}‘\;uﬂér/' (7)
(A) MC = MR (B) MC > MR (C) MC < MR (D) MC = AR

(8) A group of firms which produces specific good is called:- ' -& t’llz'( :c‘..b‘/!{gc‘.u’r‘.&.;;fuﬂwr) 8)
(A) Entrepreneur 27 (B) Consumer ils (C) Industry «»< (D) Firm ,'/'

(9) Wage is the reward of:- ~&-atsbr 9)
(A) Land 6% (B) Labour K= (C) Capital €., (D) Organization Kff’ N

(10) The concept of Marginal Land was presented by:- ks (d-'ff(‘{ (10
(A) Adam Smith L 7 (B) Marshall LJ%L (C) Robbins & s (D) Ricardo &4/

(11) Founder of ciassical school of thought was:- -é&g&)ﬁ:@é’ ¥ (1)
(A) Adam Smith 3’(:7 (B) Marshall J‘}/L (C) Robbins . (D) Keynes /

(12) Book "Principles of Economics" was written by:- el T 0T (12)
(A) Marshall LJ%L (B) Robbins . . (C) Adam Smith LT (D) Keynes i s

(13) Marginal Utility at Saturation Point is:- -q_t'm:ti'f‘“‘?{d/ﬁ (13)
(A) Positive =% (B) Negative d" (C) Maximum sslje—wsts (D) Zero 4

(14) One of the characteristics of Indifference Curves is:- PR Sl é}rﬁLP (14)
(A) Not to intersect each other t./2 27 skl (B) Positive slope 3 K{;ﬁ
(C) Zero slope 57 3 (D) Linear shape frf‘v

(15) is a discontinuous variable. _‘g/.:"‘d’vff — (15)
(A) Speed of car JC’)Jd/‘ 4 (B) Temperature =.l72» (C) Time =3 (D) Price .pf

(16) If demand increases as a result of fall in price, it is called:- - s "z.tgm)y..,”c,fuﬁ.;fﬁ (16)
(A) Extension in demand tig¥_¥ (B) Contraction in demand t?KJ
(C) Fall in demand t./} (N (D) Rise in demand (=264

(17) If total expenditure increases as a result of decrease in Price, -‘aén.,g JJ?&.@nuL)@f’faLx[&fﬁ (17

then elasticity of demand is:- (A) Less than unity ﬁ::_éb’f

(B) More than unity ug/'c_éb/ f (C) Equal to unity /J/.Lé( f (D) Zero elastic J’J.g M

(18) Kinds of supply with respect to time period are:- -uers'Jr/c,BGL::’:.ﬁ/ (18)
(A) One i (B) Two s (C) Three £ (D) Four g

(19) If supply decreases due to other factors is called:- -9_,?2_@:?&/:_,?:(,((,"!:’/5/’! (19)

(A) Extension in supply tkZ¥4~ (B) Constraction in supply t s (C) Rise in supply t» 26+~ (D) Fall in supply >
(20) If demand and supply both increase equally then -ZJ'A.B"CJ/";;L?NJQ'/JJ{JU}’!)MJJ:‘J/? (20)
equilibrium quantity is:-  (A) Slightly decreases g.anﬁaf"‘ (B) Remains the same ‘4_(3"45‘;

(C) increases « (3% (D) Decreases 98%//

35(0bj)(**)—201 6(5)-1000 (MULTAN)
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MAXIMUM MARKS: 20 20= AF

S B Ztﬂfl:jk‘?&w&.,.bzux.utu;ﬂ:é{.:&:.VLJV/.-{QKQM ~HELE D s C B ANy o)
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Note: You have four choices for each objective type question as A, B, C and D. -u.’)f:d'f/:alllr.;.;{.glr
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Firms marginal revenue curve under perfept competition is;- -‘Lbandf;?x‘J(}uﬁ.wﬂJf )
(A) Vertical (5»*  (B) Horizontal (!  (C) Negative sioped U3z (D) Positive sloped U367 =2

(2) Necessary condition of firms equilibrium is:- -5 /"duﬁJu)IPL() (2)
(A) MC = MR (B) MC > MR (C)MC <MR (D) MC = AR

(3) A group of firms which produces specific good is called:- -cg..t'lﬁ./ :q.t‘/lé;é_(f/fz.;;/.gmr) 3)
(A) Entrepreneur 27 (B) Consumer e (C) Industry w»~ (D) Firm ,'/'

(4) Wage is the reward of:- -4..);&,::1! 4)
(A) Land 2 (B) Labour = (C) Capital Kl (D) Organization K(f” \

(5) The concept of Marginal Land was presented by:- -,L.ur‘.j(uﬁ)?‘f (5)
(A) Adam Smith & 57 (B) Marshall Lu‘%h (C) Robbins 4. 71 (D) Ricardo &s5§,

(6) Founder of classical school of thought was:- -&BQL)‘JJ@’ 14 6)
(A) Adam Smith fpt’ (B) Marshall J%L (C) Robbins (D) Keynes /

(7) Book "Principles of Economics" was written by:- e T 7
(A) Marshall LJ%L (B) Robbins & b (C) Adam Smith L 5“7 (D) Keynes & s

(8) Marginal Utility at Saturation Point is:- -g‘-.t‘m;wﬁ,;d/ﬁ 8)
(A) Positive =% (B) Negative d’ (C) Maximum ssticesli (D) Zero

(9) One of the characteristics of Indifference Curves is:- e LS a#  (9)
(A) Not to intersect each other £/ 252 skl (B) Positive siope 3 K{:ﬁ
(C) Zero slope 5€7 4 (D) Linear shape g}é(f‘v

(10) is a discontinuous variable. -2 J’V/z’ —  (10)
(A) Speed of car /C”JJ 514 (B) Temperature «./7>» (C) Time &3 (D) Price .;u,,"'

(11) If demand increases as a result of fall in price, it is called:- -c,,?i.@m;&)#a.g{}f ;«Eﬁ 1)
(A) Extension in demand kg (B) Contraction in demand t}CKJ
(C) Fall in demand ¢/} K (D) Rise in demand teZ¥_V

(12) If total expenditure increases as a result of decrease in Price, -g‘:..&m.g J_,Jbiz.(gm:g}@i'fci.nf;fﬁ (12)

then elasticity of demand is:- (A) Less than unity H;JKI

(B) More than unity aJL)&-JK s (C) Equal to unity /.!/.éiébf / (D) Zero elastic J])g .

(13) Kinds of supply with respect to time period are:- -q{ru“lJy/cNLcﬁu/ (13)
(A) One i (B) Two (C) Three £ (D) Four g

(14) If supply decreases due to other factors is called:- _q.,?ngn(;/cg,JJlfLﬁ (14)

(A) Extension in supply t& €4~ (B) Constraction in supply t<¥x~ (C) Rise in supply =276, (D) Fall in supply £/ ¥
(15) If demand and supply both increase equally then -:J',é-’fw!??a.tgnjuv.l/.u-fu)»rwh,ﬂ'ﬁ (15)
equilibrium quantity is:-  (A) Slightly decreasesh‘ag}nﬁar” (BZ Remains the same :‘_.64;69

(C) Increases < (% (D) Decreases 4.(};1#/

(16) ____is a basic factor of Production. -;.Jjbm}bd;.lﬁ (16)
(A) Organization (f’ (B) Capital i, (C) Labour &4 (D) Land 9]

(17) \f a labourer becomes a Foreman, this mobility is:- -eUsk J‘;?L(gu:w/}{»/"ugﬁ “an
(A) Social 8/%» (B) Geographical Jyt/*’ <) Vergical Sa’ (D) Horizontal J"!

(18) is an external economy. (A) Technical Economy «c&(3 ez (18)
(B) Administrative Economy =< /(f & (C) Financial Economy W (D) Bank .,Q i

(19) Disadvantage of large scale production includes:- . e u:.;buﬁLJ’!&;gé.g (19)
(A) Over production (bl 41,  (B) Division of labour Mﬂ‘w (C) Research (%% (D) Advertisement ﬁy

(20) Variable cost includes:- (A) Wages of watchman a!}":f,(/',y/i, -q_JﬁufJJW/f" (20)

(B) Interest of capital s»62-\ (C) Wages of labourers cJIJuu»f (D) Rent of building ,If 1 4
35(0bj)(V W I)-2016(S)-1000 (MULTAN)
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Number: 6117
ECONOMICS PAPER- by g4 b
TIME ALLOWED: 30 Minutes OBJECTIVE (w0 < 30 = &b

MAXIMUM MARKS: 20 20 =
S oF b fJLﬁf’)ﬁWJWLvlﬁc‘wc_gﬁw}bi{_)&bédlrﬁ{qmb‘! -gLésnDsCBA o&li.;@yﬁdlr/z -
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Note: You have four choices for each objective type question as A, B, C and D. -ujf;«f}g,-camr{,g{.ﬂr

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 _

(1) lf demand increases as a result of fall in price, it is called:-
(A) Extension in demand kg ¥_»
(C) Fall in demand t./¥_4

then elasticity of demand is:-
(B) More than unity a:&)cé( l
(3) Kinds of supply with respect to time period are:-
(A) One (i (B) Two
(4) If supply decreases due to other factors is called:-

(C) Three f

1 Ay

g Tilpsin i b St d N

(B) Contraction in demand b/’CKJ

(D) Rise in demand (=264

(2) If total expenditure increases as a result of decrease in Price,

(A) Less than unity ﬂ;d( '
(C) Equal to unity <L ¥

-c Jyz...g JJ?Z__ lgm:&)@]"f:_ Lnf/ ét_’.:/l

(D) Zero elastic ;Lo.g #
-Jir Ularse UL S0 p

(D) Four sk

-G I lont ﬁ:ruc.,.?: U ksl

M

@)

&)

(4)

(A) Extension in supply tk4 ¥, (B) Constraction in supply 3 (C) Rise in supply t»Z¥x~ (D) Fall in supply >»

(5) If demand and supply both increase equally then

Ry Y2 O) Y] ;Z.(gn,.;uv.b: S u;»,v//:ibfwﬁ

equilibrium quantity is:-  (A) Slightly decreases q_an(‘:}r’” (Bl Remains the same ‘c(_?fjd‘:

(C) Increases < (3
(6) ____is a basic factor of Production.
(A) Organization (=~ (B) Capital 4,
(7) If a labourer becomes a Foreman, this mobility is:-
(A) Social (i
(8) _____is an external economy.
(B) Administrative Economy «c&(§
(9) Disadvantage of large scale production includes:-

(A) Over production (/514 41;  (B) Division of labour /Kﬂ.} (C) Research
(A) Wages of watchman o714/

(C) Wages of labourers =.2/(fUsis
(11) Firms marginal revenue curve under perfect competition is:-

(10) Variable cost includes:-
(B) Interest of capital s62{

(A) Vertical §»¥  (B) Horizontal (¢
(12) Necessary condition of firms equilibrium is:-

(A) MC =MR (B) MC > MR
(13) A group of firms which produces specific good is called:-

(A) Entrepreneur 27 (B) Consumer Jite
(14) Wage is the reward of:-

(A) Land K% (B) Labour K=
(15) The concept of Marginal Land was presented by:-

{A) Adam Smith LE’(:T (B) Marshall Lu‘%L
(16) Founder of classical school of thought was:-

(A) Adam Smith #7T (B) Marshall A
(17) Book "Principles of Economics" was written by:-

(A) Marshall & A (B) Robbins &
(18) Marginal Utility at Saturation Point is:-

(A) Positive =3 (B) Negative ¢
{19) One of the characteristics of Indifferenc.e Curves is:-

(A) Not to intersect each other £/~ skl

(C) Zero slope 5€z 3#
(20) _____ is a discontinuous variable.

(A) Speed of car B¢

(C) Labour «¢
(B) Geographical (Y12 (C) Vertical

(A) Technical Economy «cW/(§
(C) Financial Economy =<0

(B) Temperature =72 (C) Time <%

(D) Decreases <

-‘a‘ﬁ,_ggfbd)y!
(D) Land )

e 6Tt ety gl
(D) Horizontal
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